September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

. 4

Operator: License # 6861	API No. 15 - 039-20943-00-00
Name: RON'S OIL OPERATIONS, INC	County: DECATUR
Address: 1889 200TH AVE	SE -SW - NW - NW Sec. 27 Twp. 4 S. R. 30 East West
City/State/Zip: PENOKEE KS 67659	1155 feet from S N circle one) Line of Section
Purchaser:	430 feet from E / Circle one) Line of Section
Operator Contact Person: RON NICKELSON	Footages Calculated from Nearest Outside Section Corner:
Phone: (785) 421-2409	(circle one) NE SE NW 'SW
Contractor: Name: ANDERSON DRILLING	Lease Name: PHILLIPS Well #: 27-1
License: 33237	Field Name:
Wellsite Geologist: Richard Bell	Producing Formation:
Designate Type of Completion:	Elevation: Ground: 2857 Kelly Bushing:
New Well Re-Entry Workover	Total Depth: 4210 Plug Back Total Depth:
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 255' @ 260' W/175 sxs Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tosx cmt.
Well Name:	70
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit) KIR 12/13/0
Deepening Re-perf Conv. to Enhr./SWD	Chloride content ppm Fluid volume bbls
Plug Back Plug Back Total Depth	Dewatering method used
Commingled Docket No.	
Dual Completion	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
10-28-05 11-07-05 11-07-05	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R East West
Recompletion Date Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-s and geologist well report shall be attached with this form. ALL CEMENTING s. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regul herein are complete and correct to the best of my knowledge.	late the oil and gas industry have been fully complied with and the statements
Signature: Ron Mirkelon	KCC Office Use ONLY
Title: Openator Date: G28-U/	Letter of Confidentiality Received
Subscribed and sworn to before me this 25 day of Yune	If Denied, Yes Date:
2006	Wireline Log Received
20 1	Geologist Report Received RECEIVED
Notary Public: That Willisem	Geologist Report Received RECEIVED UIC Distribution JUN 2 9 2006
Date Commission Expires: Jan 21 2008	JUN 2 9 2006

NOTARY PUBLIC STATE OF KANSAS My App. Exp. /

KCC WICHITA

Operator Name: RON	'S OIL OPERA	TIONS, II	NC	Leas	se Name: l	PHILLIPS		_ Well #: 27-	1 :
Sec Twp4	S. R	_	✓ West	Coun	nty: DECA	ATUR			
INSTRUCTIONS: Sho tested, time tool open a temperature, fluid reco Electric Wireline Logs	and closed, flowin very, and flow rate	g and shutes if gas to	in pressures, surface test, a	whether a long with	shut-in pre	essure reache	d static level, hydro	ostatic pressui	res, bottom hole
Drill Stem Tests Taken (Attach Additional Si	heets)	✓ Ye	es 🗌 No		. ✓L	og Forma	ition (Top), Depth	and Datum	Sample
Samples Sent to Geold	·	☐ Ye	es No		Nam	3		Тор	Datum
Cores Taken	ogiour ourroy	 □ Ye	: =		1 1	ydrite		2644	+218
Electric Log Run					1	Abhydri		2677 3730	+ 185 - 868
(Submit Copy)		<u>.</u>			, –	eka bner		3730 3899	-1037
List All E. Logs Run:						onto		3933	-1.071
-					1	sing		3952	-1090
ral Induc	tion hog					K.C.		4156	-1294
actinder.	Courand	hoa			1.			h	
al Comben	\sim	eros#	y hog						
			CASING				uction, etc.		
Purpose of String	Size Hole Drilled	Siz	e Casing (In O.D.)	W	/eight s. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percer Additives
SURFACE	12 1/4"	8 5/8"	. (111 0.0.)		0.711.	260	COM	175	3% CC; 2% G

	 		ADDITIONAL	CEMEN	TING / SQL	JEEZE RECOF	RD		
Purpose:	Depth Top Bottom	Туре	of Cement	#Sac	ks Used	Used . Type and Percent Additives			s
Perforate Protect Casing								-1	
Plug Back TD Plug Off Zone		ļ		ļ		-			
Flug On Zone	,								
Shots Per Foot			D - Bridge Plug		е		racture, Shot, Cemen		
	Specify	Footage of E	Each Interval Per	torated		(Amount and Kind of M	aterial Used)	Depth
							·		
			····						
									
							•		
TUBING RECORD	Size	Set At		Packer	r At	Liner Run	Yes No)	
Date of First, Resumerd I	Production, SWD or I	Enhr.	Producing Meth	nod	Flowing	g Pum	ping Gas Li	ft 🔲 Oth	ner (Explain)
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wate	er	Bbls.	Gas-Oil Ratio	Gravity
Disposition of Gas	METHOD OF	COMPLETIC)N			Production Int	erval	•	
Vented Sold	Used on Lease		Open Hole	, [] Pe	erf. 🔲 C	Dually Comp.	Commingled	F	RECEIVED
(If vented, Subr	nit ACO-18.)		Other (Speci	fy)					IN 2 a conc
•								~(··· 4 J ZUUN

KCC WICHITA

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

Invoice Number: 099202

Invoice Date: 10/31/05

Sold Ron's Oil Operations, Inc

To: 1889 200th Ave.

Penokee, KS 67659-2036

Cust I.D....: Ron's

P.O. Number..: Phillips 27-1

P.O. Date...: 10/31/05

Due Date.: 11/30/05 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	175.00	SKS	10.0000	1750.00	T
Gel	3.00	SKS	14.0000	42.00	T
Chloride	6.00	SKS	38.0000	228.00	T
Handling	184.00	SKS	1.6000	294.40	E
Mileage	50.00	MILE	11.0400	552.00	E
184 sks @.06 pe	er sk per mi				
Surface	1.00	JOB	670.0000	670.00	E
Mileage pmp trk	50.00	MILE	5,0000	250.00	E
Surface Plug	1.00	EACH	55.0000	. 55.00	T
Date of Invoice. If Account CURREN	et, Payable 30 Days Fo 1 1/2% Charged There To take Discount of \$	after. Tax <i>384/4</i> Pay	total:: ments:	3841.40 130.73 0.00	
ONLY if paid with	nin 30 days from Invo	ice Date Tot	al:	3972.13	

RECEIVED JUN 2 9 2006 KCC WICHITA

ALLIED CEMENTING CO., INC. 21921

ATO P.O. BOX 31 SERVICE POINT: RUSSELL, KANSAS 67665 CALLED OUT JOB START OLD OR NEW (Circle one) CONTRACTOR OWNER TYPE OF JOB HOLE SIZE CEMENT CASING SIZE AMOUNT ORDERED 175 Sts Com 3% (226) DEPTH TUBING SIZE DEPTH DRILL PIPE DEPTH TOOL DEPTH PRES. MAX MINIMUM COMMON @ 10.00 1750.00 MEAS. LINE SHOE JOINT POZMIX CEMENT LEFT IN CSG 3 5 Kg GEL, PERFS. CHLORIDE 6 5KS DISPLACEMENT ASC EQUIPMENT 0 @ @ PUMP TRUCK CEMENTER @ 19 HELPER Wayne 0 BULK TRUCK # 218 @ DRIVER 0 **BULK TRUCK** @ DRIVER HANDLING **@** MILEAGE 6 F SRMILE REMARKS: TOTAL 2866.40 Climan of SERVICE DEPTH OF JOB PUMP TRUCK CHARGE 670.00 EXTRA FOOTAGE **@** MILEAGE @ 5,00 250,00 MANIFOLD @ **(**<u>0</u>) RECEIVED @ CHARGE TO: Rous Oil JUN 2 9 2006 TOTAL 920.00 STREET CITY_ STATE KCC WIGHT FOAT EQUIPMENT 838 Surface Plus @ **(**0) To Allied Cementing Co., Inc. @ You are hereby requested to rent cementing equipment 0 and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was TOTAL S.S. DO done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side. TOTAL CHARGE -IF PAID IN 30 DAYS DISCOUNT -TOTAL CHARGE SIGNATURE FRINTED NAMEPAID IN 30 DAYS SIGNATURE PRINTED NAME

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

Invoice Number: 099327

Invoice Date: 11/11/05

Sold Ron's Oil Operations, Inc

To:

1889 200th Ave. Penokee, KS 67659-2036

Cust I.D....: Ron's

P.O. Number..: Phillips 27-1

P.O. Date...: 11/11/05

Due Date.: 12/11/05 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	ТX
Common	114.00	\$K\$	10.0000	1140.00	т
Pozmix	76.00	SKS	4.7000	357.20	
Gel	10.00	SKS	14.0000		-
FloSeal	48.00	LBS	1.7000	140.00 81.60	T T
Handling	202.00	SKS	1.6000	323.20	Ť
Mileage 202 sks @.06 per	50.00	MILE	12.1200	606.00	Ť
Plug					
	1.00	JOB	750.0000	750.00	T
Mileage pmp trk	50.00	MILE	5.0000	250.00	T
Dryhole Plug	1.00	EACH	35.0000	35.00	T
All Drices But Not	- Marrie 1-1 - 66 - 5		_		
Mar Frices Are Net	, Payable 30 Days Fo		total:	3683.00	
Date of invoice.	1/2% Charged Theres	after. Tax.	;	232.03	
II Account CURRENT	take Discount of \$	368.30 Payr	ments: "	0.00	
ONLY it paid with:	in 30 days from Invo	ce Date Tota	al:	3915.03	

6-23-06/paged
Atwenton

RECEIVED JUN 2 9 2006 KCC WICHITA

ALLIED CEMENTING CO., INC.

21893

ONTRACTOR A+A DIL C	CALLED OUT ON LOCATION JOB START JOB FINISHPA CALLED OUT ON LOCATION JOB START JOB FINISHPA COUNTY STATE COUNTY STATE COUNTY STATE COUNTY STATE COUNTY STATE COUNTY STATE
EASE Phillips WELL# 197-1 LOCATION SOLD ORNEW (Circle one)	ON LOCATION JOB START JOB FINISHOW
LD OR NEW (Circle one) NITRACTOR A+A D	ON LOCATION JOB START JOB FINISHOW
ONTRACTOR A+A D	don 34-94 1/1 Sounty STATE
ONTRACTOR A+A D	CKOM SCI-QALIC INCOMIX. ISTATE
INTRACTOR A+A DIL C	M-10W Decetur Kan
INTRACTOR A+A Dela Ca	6N-65
LEOF JOB P	OWNER Same
SING SIZE 77/8- T.D. 4210	
DEDTU	_ CEMENT
BING SIZE	- AMOUNT ORDERED 190 SKS 6940 Poo
TLL PIPE 4/2 X P DEPTH 3/10	6% Cal 74# Flo-Sec
OF DEALM	
CS. MAX MINIMINA	1140.00
AS. LINE SHOR TOURT	COMMON 114 SKS @ 10 ac 1 acc 1 acc
MENT LEFT IN CSG.	
RFS.	GIT 01115
PLACEMENT	100
EQUIPMENT	
A second themselves	
MPTRUCK CEMENTER_ (JC/4-	
MPTRUCK CEMENTER WAIT-	
LK TRUCK	@
The British	@
KTRUCK Larry	
DRIVER	
- AV A AVA	- HANDLING 202 @ 460 32320
	MILEAGE 64 mes Stilente LAGO
REMARKS:	
	TOTAL L
25 SK 2 2660'	SERVICE AG 4800
100 5Ks 12 19101	SERVICE SE YARDE
40 SK2 2 3051	DEPTH OF YOU
10 56 2 40	DEPTH OF JOB
15 SKs in R. U.	PUMP TRUCK CHARGE 750
	EXTRA FOOTAGE @ See 250
Thank You	
7747	MANIFOLD
	@
RGE TO: Ron's Oil Oper The	W
, ,	10000
BET	TOTAL 1,0000
YSTATEZIP	·
,	PLUG & FLOAT EQUIPMENT
	85h
	1 7 11./ 12 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2
,	1- Dry Hale Plus, @ 35-80
Allied Committee Co.	
Allied Cementing Co., Inc.	
are hereby requested to rent comenting equipment	@
furnish cementer and helper to assist owner or	W.
ractor to do work as is listed. The above work was	00 سرد
e to satisfaction and supervision of owner agent or	TOTAL 35.00
ractor. I have read & understand the "TERMS AND	TAY.
NDTTIONS" listed on the reverse side.	TAX
	TOTAL CHARGE
n , Li	DISCOUNT IF PAID IN 30 DAYS
ef 1) mator	DISCOUNT IF PAID IN 30 DAYS
NATURE, Farm Linery about	DISCOUNT IF PAID IN 30 DAYS
NATURE Jamy Linery atol	DISCOUNT IF PAID IN 30 DAYS PRINTED NAME PRINTED NAME
NATURE Jamy Linning about	PRINTED NAME JUN
NATURE Jamy Linning about	PRINTED NAME JUN
ATURE Jary Lingungator	PRINTED NAME FOR ME PRINTED NAME FOR ME